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Sl enTaerT

Instructions :

Goioy : (i)
(i1)

Note : (1)

(i)

3.00 Hours | [Maximum Marks : 90

(1) meansg alerrssEpd sflwrg udleurdl o 6rersm 6re6m LS e 6

sflurrggls Camerere]b. &FsliLSledler Gapuil@mulber amms
sasrentiiurerilb o L arnguwirgsd Csfelssean.

(2) Beowd g s@mLUY wulamear wLLHGEWL 6rPFHISDHEGLD,
24 &5CHTg (HeusnH@GD LTSS Colam(hib. LILIBISET eUamFelSN S
Quenled Liwtem(HSHe|b.

(1) Check the question paper for fairness of printing. If there is any

lack of fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw

diagrams.
L@ - I/PART - I
SeMeNSHG| NaTESEHEGD ellen_Wefl&sa L. 20x1=20

Qarhssiul(erer wIHD eloLsalledr Wsa|D eHLeML W
evLevwd CasrpsHEHE GMUILBHLer aleLulearnyb Carsg)
CT(PSaLD.

Answer all the questions.

Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.
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auflens n 2 enL_ W @ Sfantluflen Srid

(=) n+1 (2)n-1 (&) n? () n

The rank of the unit matrix of order n is :

(a) n+1 (b) n-—1 (c) n2 (d n
A B
=B [07 03 erarLg) rmiIse Blaspe| awfl erefled, x -6 SlLL
B (0.6 x
(1) 0.4 (<) 0.2 (@) 0.7 (rF) 0.3
A B
If 7= fhfy0-7 0.3 is a transition probability matrix, then the value of x is :
B (0.6 x
(a) 0.4 (b) 0.2 (c) 0.7 (d) 0.3

1
j?dx -eor WHLILF gLy

-1 -3 -2 -1

(@) 32 *° () 2 *¢° @) =z +° (M) o2 *°
1

—d

Jx3 X 1s

(@) 2 *¢ b)) 2 *cC () =z 7*c¢ @ Sz*e¢
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1
y= ~ GTETD EUENETEUENT 1 LOHMILD 2 GTEILD 6TEVENEVSH@ERH&EET eFHLI(HNSSHID LIFLIL] :

(<=1) log 3 &.@G:S6T (<) log 2 & . @G:s6T

(@) log 4 &.0@GS6T (FF) log 5 &.2e0@&S6T

Area bounded by the curve Yy = ~ between the limits 1 and 2 is :

(a) log 3 sq.units (b) log 2 sq.units

(c) log 4 sq.units (d) log 5 sq.units

@ Fheng Gurefler Coeneu HMID Sjefllilg Friyser wpenpGuw P(x) = (x—5)2
OHMID S() =22 +x+3 erafler, gen Fwer Hlane alened x

(1) 3 (=) 5 (&) 1 () 2

The demand and supply function of a Commodity are P(x)=(x—5)2 and
S(x) =x2+x+3 then, the equilibrium quantity Xq is :

(a) 3 b) 5 (c) 1 (d) 2

@ Bmeuansslen @mdl Blene aumeumis wrdledl erefled, Fem Coeneud il :
(1) Clx) (<=$) MR (8) AC () MC
If the marginal revenue of a firm is constant, then the demand function is :
(a) C(x) (b) MR (c) AC (d) MC
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7.

=cx+c—c3 T, FHeT UMHHOSGDF FLeTUT(H) :
Yy 2 w

3
d d d

(=) E dx dx
3

dy  dy dy)

== x — — P

(=) Y dx dx (dx

d3y
(&) dxd =0

dy ¥ dy dy
() Y (dx] dx dx

If y=cx+c—c2 then, its differential equation is :

3
dy dy dy
_— + — —_— - X —
(a) dx Y (dxj dx

= — 4 —_

b) y=x dx  dx dx
d3y
ST R
dy dy dy

+ —_ = _— =
() (dx] dx dx
dy _ /(y . . . . . . .
—=1r TaTm ellgelé 2 6Tem FoL T Uan&&E06&pF Fwerum()
dx x D allg 488 Cl
SrésliuL LweruBsLu@mn Grduie

(S1) x=vy (=) y=vx (@) x=v (FF) v=yx

d
A homogeneous differential equation of the form ﬁ =f (%) can be solved

by making substitution :
(a) x=vy (b) y=vx (c) x=v (d) v=yx
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B&TGeut aflenad @GHUWILCLarenent HeflEssamiqwg)

(=) ey 6T gbleumisd penm
(=) urdluldler wpevm

(@) eObu aure] GFwey (Wpem
(FF) ooliegfler sallss peanm

Consumer Price Index are obtained by :

(a)
(b)
(c)
(d)

Marshall Edgeworth formula
Paasche’s formula

Family budget method formula
Fisher’s Ideal formula

QarOssLiul_Rerer elleurmiseaialmbg Ay, -6 LS

X 5 §) 9 11

Y 12 13 15 18
(1) 2 (<) 1 (&) -1 (/) O
For the given data find the value of A3y0 is :

x 5 6 9 11

Y 12 13 15 18
(a) 2 (b) 1 () -1 (d O

x -g euflggd Hlapsse] GO wdlmueil sowrsCeur g
GeomalrsGalr 2 6TeT HlEpssHe]

(1) eflaflioy Hlspsse (<) safiss Blapssal

(@) Gar_rsslurer Hlapssay () Slyer Hlaspssay

Probability which explains x is equal to or less than particular value is
classified as :

(a) marginal probability (b)
(c) continuous probability (d)

discrete probability
cumulative probability

E[X-E(X)]? eraLig) :

(<=1) V(X) (<) EXX) (8) S.D(X) () EX?)
E[X-EX)]? is )
(a) V(X) (b)  E(X) (c) S.D(X) (d) EX?)

[ lpliys / Turn over
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13.

14.

15.

DIt L UFeuedlen LsiTLeTeneuseT e B(n, p) -&@ Frmatluder gl 4 hmibd
wrmur® 4/3 erefed, P(X=5) -@em wdlliLimeng :

(=) (34)° (<) (%) @) +(2) () (24) (%)

If for a binomial distribution B(n, p) mean=4 and variance=4/3, the
probability, P(X=5) is equal to :

@ (%) o (%) © (%) @ () (%)

@@ GOHUALL afissLsdd Qedab elwragde uwamils@gn 40 sseis
vwenflser LwamE@h Crrsdled SHEEHLT ThHS @ 2-6DL6DLO&EM ETLLD
T (H5g1F HFdeudlbene. eeuPEFHL FSle ClFeayd afpTembiseT 15 @)(m&amsdseT
CsrewrLg) eTalld, 2 L @dernd Lwuamilsgn uweailsallear gymrerfl
CTEHTERT I SENEHWITENTS)

(<=1) 7.20 (<) 6.00 (@) 7.50 () 6.45

Forty percent of the passengers who fly on a certain route do not check in
any luggage. The planes on this route seat 15 passengers. For a full flight,
what is the mean of the number of passengers who do not check in any
luggage ?

(a) 7.20 (b) 6.00 (c) 7.50 (d) 6.45
Pe|D SDOF PREDT _ EreTlg SiFled) 2. 6TeT (Plge|n AD@F)
Wpigemm 2 miliLsetlen eremantidangamul UTNISSSTEGLD.

(=) ppenind semflLiL (=) Aar@dl LaTUeTameL

(@) wppews CgmEd () Copammu ergla]sldeame

A may be finite or infinite according as the number of observation

or items in it is finite or infinite.
(a) census (b) parameter

(c) population (d) none of these
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“FeUmilL sgmprarg Wppaws Csr@EHuie o drer geublelm@m 2 mlib
wrfludéd @b dumeishHarer Fweumilienuls QUOHHHEEGL 2 ML SeTTeD
TG 6Te dmpPlweur ?

(1) srred Gwiren e (<=,) apmrrum

(@) cmsr Cuiev (FF) oollagm

“A random sample is a sample selected in such a way that every item in the
population has an equal chance of being included”, is said by :

(a) Karl Pearson (b) Harper
(c) Dr. Yates (d) Fisher

e em Frhm werws QTEdHurarg Errer siament (P(PLLS
Qsradsarral 9MNssLILOEDG.

(=) u@ens eumiliy sabp@HLUY Wpem

(=) Papssa) smrm &CpHLIL WPaD

(@) Yeopuudsiiv sbpEuy (perp

(FF) eraflw gweumitiyy saGp@ELUY wpepm

In the heterogeneous groups are divided into homogeneous groups.
(a) a stratified random sample

(b) non-probability sample

(c) systematic random sample

(d) a simple random sample

L@HeusTe Wwrmur@h ererLg e Bear@Hbn ghHu@ b

CeumiumLmLb.

(=) @@ wrssdpEeanms () floo amhsefla

(@) e amrsdpeedant s () @0 pamgdEaTens

The seasonal variation means the variations occurring within :

(a) a month (b) a number of years

(c) a week (d) a year

E = .

(S1) 14V (<) 1+A (@) 1-v (FF) 1-A
E = .

(a) 1+V (b) 1+A (c) 1-V (d 1-A

[ lpliys / Turn over
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20. auL CupE epene eremLigener @GmlLILIg) :

(=) &1 auwg) epaa (<) Goed Qg apana
(@) & QL gl apene () Ced cuerg epened
North-west corner refers to .

(a) bottom right corner (b) top left corner

(c) bottom left corner (d) top right corner

L@&3| - II/PART - 11
SN : stemeuGuienid e1(p ellaTéaEns@ ellanwallGsea|b. eferm eream 30 -&@

SL_L_muwng el wel&Hse L. 7x2=14
Note : Answer any 7 questions. Question No. 30 is compulsory.
2 -1 1
21. |3 1 -5/ eramm ewfludlen Sy Smemwrs.
1 1 1
2 -1 1
Find the rank of the matrix |3 1 —5].
11 1

22. Yeraumbd gseue Geupmseiiear Hlspgsse Urelmaws Gh&ESng erafe,
Qeupdludler erdiumigse eramanilEanseamiids ser(hdllg&se]Lb.

Gleum Ml sarfles 0 . )
cTavTeniEHengs X = x

) 6 9 1

@5%958;@4 P(x) 11 E 29

The following information is the probability distribution of successes.

No. of successes X=x 0 1 2
Probability P(x) 5 9 1
11 22 22

Determine the expected number of success.
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26.
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d
it : 2 = aeY
X
d
Solve : < ae¥
dx

Alogx -6 WSl Sres.
Find the value of Alogx.

x
P(x) = {20
0, wHEprIGab

, x=0,1,2,3,4,5

eraflé (i) P(X < 3), whmbd (ii) P2 <X < 4) g Hweuherns sewr(h9y&&eLb.

X
— =0,1,2,3,4,5
pr(x): 20’x b 2 ’ 2 K

0 , otherwise

Find (i) P(X<3) and (i) P(2 < X < 4).

J(3+x)(2—5x) ererLeng x -l Curmisg Csrensudhs.

Integrate (3+x)(2—-5x) with respect to x.

FEOULL Ureuedler srmefl 5 womb S elossd 2 erafle, LFaumeOs
Srorafdsa] L.

The mean of a binomial distribution is 5 and standard deviation is 2.
Determine the distribution.

2Fls Tamasmsullorar brameismers CararL @@ WP
QarEduledlmbg 100 wreameurser Garam @ wrHM  Csfley
QewiL®dmg). wrewreurgefler rmafl 2 wirb 162 G5, HLalewssd 8 Gg.L5
LOHMD Wpeaws CAsr@dufer srrafl 2 wirb 160 G&.15 erafled, Siger S
GenLpeniis SrerTs.

A sample of 100 students is chosen from a large group of students. The
average height of these students is 162 cm and standard deviation (S.D.) is

8 cm. Obtain the standard error for the average height of large group of
students of 160 cm.

[ lpliys / Turn over
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29.

30.

Cursdlenanr jerell(Heusharar eucuCGaim (pepmEemerd @GDHILIG(HS.

State the different methods of measuring trend.

U,=5, U; =25, U,=20, Uy =15 wpmid U, =35 erafled, A*U, srenrs.
Given Uy=5, U; =25, U,=20, U;=15 and U, =35 find A4UO.

L@&g - 1II/PART - III

SN : etemeuCuienid 61 ellamas@ns@ elenwelldseyh. efearm ereamm 40 -&@

SL_Lmwwongs  ollewefldseal . 7%3=21
Note : Answer any 7 questions. Question No. 40 is compulsory.
31. 2x+y=5, 4x+2y=10 Y Fw FLITUTHSET @RHRISMDE]| 2 ML WF 6reted
Seupend Srés.
Show that the equations 2x+y=35, 4x+2y=10 are consistent and solve them.
2. [ g | QuIEE GTasid
. Ie—x eTaiLieng x -l GluTmisg GsTensull(hs.
e3x = e—3x .
Integrate p with respect to x.
e
33. OpSlp&s amry B, ~x_2’ x=6 LOMID y=16 erayid Curg gen CsT_&5
hlenevd FTienLid SHTems.
E x
When the elasticity function . is 0 Find the function when x=6 and
; _
y=16.
.o 3
34. 865 ydx—xdy- 3x2y2e’ dx=0

3
Solve : ydx—xdy—3x2y%e* dx=0
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1
35. h=1 eraflé, A{m} -3 LHIAHS.

1
Evaluate : A[m} by taking ‘1’ as the interval of differencing.

36. X ecranug @@ Ogrorsflurer FoemlliLy wrdl s, Far HEpSHey
SLTHHF erruTeang) :

3
2 x>l
fr=1x" "
0 , wHEPEIEaD

crefleb X -eor gymafl OHMID WTMLITL enL &STeHTs.

Let X be a continuous random variable with probability density function

3
2 x=1
X

flx) =

0 , otherwise

Find the mean and variance of X.

37. @m Hpeear swurfluysefl® 5% @epur@erer Wer oleTs@ser
swrilgsliuheugrs ldpriser. umigrer LTeueme Lwerhgs, 120 wWler
dears@aser GCaramr_ gam OgrEgduiler GeapurLpn Wer elerdEsar
@muusharer Blspssaianersd samss(hs.

It is given that 5% of the electric bulbs manufactured by a company are
defective. Using Poisson distribution find the probability that a sample of
120 bulbs will contain no defective bulbs.

[ lpliys / Turn over
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38. Gemeumd afleurmisEns@, 2011 Sjiglitenl a1 (urmisg 2016 -yid
< emghaErer BETGeurt ellaned @GHUILH erewr eped eurpsamd @&Gmuil (k)

CTETENETE ST (NG

o edleme0
QU eS6T N 5Y
SliqlitienL et | BLLIL p6u01(H)
oy 32 48 25
SiEEeT 25 42 10
6T voT (ol v Ui 54 85 6
s 250 460 1
Gslena 175 275 2

Calculate the cost of living index number by consumer price index number

for the year 2016 with respect to the base year 2011 of the following data.

Price
Commodities Quantity
Base year Current year
Rice 32 48 25
Sugar 25 42 10
Oil S4 85 6
Coffee 250 460 1
Tea 175 275 2
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39. @@ oleusmud gearg 100 g&sim LaTamauied cpaTm euaswrer LudrsamerTL
LullfLg Sl herermi. @erumrearg wepp wHMD LUmeblenean s
FTTHE (HEGD. b elleusmudl wenp eTenel Flsb, srrafl LOHmID Gammay
GTE CPETM CUMSWITS eUamsLILMHSHFDTT. eeubloumm euenswimer LudfgyLd
Qe rdruris@n @erud &G Qarhdsiul (HeTerg.

AU LU L eipuenes (3)
LDEDLPWIETE
ol A uullr B pullir C
SiHsiD 8000 3500 5000
FyEh 4500 4500 5000
LY 2000 5000 4000

s euenswrer Luleny e Ludfl(Heurt eremiens piqey GlFuwiw
() Befmeler BSUGLL WwHmID

i) WBOCumellen W&flm <pHwaihenns sraurs.

A farmer wants to decide which of the three crops he should plant on his
100 acre farm. The profit from each is dependent on the rainfall during the
growing season. The farmer has categorized the amount of rainfall as high,
medium and low. His estimated profit for each is shown in the table.

Estimated Conditional Profit (J)
Rainfall
Crop A Crop B Crop C
High 8000 3500 5000
Medium 4500 4500 5000
Low 2000 5000 4000

If the farmer wishes to plant only crop, decide which should be his best crop
using (1) Maximin (ii) Minimax.

[ lpliys / Turn over
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40. e FeumiliL) wrl X womid Y=3X+5. sweumiiliy wmml X-er wrmurl L eTey
1 erafled, Y -6or ommiuIl L emey erever ?

Let X be a random variable and Y=3X+5. What is the variance of Y if
variance of X is 1 ?

L@&3 - IV/PART - IV
GSNILIL : SemesIsg alarmasEnds@Gn eflenL wefl&Ese, . 7x5=35
Note : Answer all the questions.

41. (=) Yereumd FLTUTHSET @HRIGMLE| 2 L g erafled k -6 dllienLs
SITEH0TS.

x+2y—-38z=-2,3x—y—2z=1wHpmiw 2x+ 3y — 5z=k
S|V

(<=4) @ FweumiiL wrdl X -y,earg Weralb Hlaspssey srmepl GLHmETeTS)
erafled

X e lliygar| O 1 2 L 4 5 6 %
P(x) 0 a 2a 2a 3a a’ | 2a° |7a’+a

(i) a-eeaud (g &seLD
wHIGGs © (i) PX<3), (iii) P(X>2) wHmib (iv) PR <X <5)

(a) Find k, if the equations
x+2y—-3z=-2,3x—y—-2z=1, 2x+ 3y — Sz=k are consistent.

OR
(b) A random variable X has the following probability function.
Values of X| O 1 2 3 4 5 6 7
P(x) 0 a 2a | 2a | 3a | a? | 2a% |7a’+a

(i) Find a, Evaluate (ii) P(X<3), (iii) P(X>2) and (iv) P(2 <X < 5).
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aoe . e
42. (o) wHIAGS : 2\/;+m
S|6060F)
(=) swrflssliu@n durmlseafler 5 sseldlgnD GampuTHeTeTanay.
gwalmiuli wemuie 20 CummLger CaibsH&sULBHL Cumipg)

(i) eperm WLHD GDUTHETETSTS.
(i) GeoPBSULFD @Qrem®h CUTBLseT GamnUTHETETSTS.

(ili) Brem@ WL (AL GODUTHETETSTE QBLUUSHETET HlSLpS5S56,.
(

iv) eymefl LHMID WIMUTL Igener SaT(HL9g&56LD.

~"

5
(a) Evaluate : J. I dx
: 2\/; + J7 —x
OR

(b) If 5% of the items produced turn out to be defective, then find out the
probability that out of 20 items selected at random there are :

(i) exactly three defectives

(ii) at least two defectives

(iii) exactly 4 defectives

(iv) find the mean and variance

43. () y=x2 eraip UFeueeTWSHDGW, y=4 erarn Cariigm@d Qe Ul L
LTLIEnLISG &TErs.
ENTVIOVE:

(=) umsd Bredler cualend (M seteno) Pl 100 ereI(Hs6r GlgmearTL
e dsrgdulamans ey g eupbler syrafl HmD S L elossLd
wpenGur 7.4 womid 1.2 Symbd erefled, LSS mredlem srmam auedeanoude
95% Bisms Qe Celallanwids sreams.

(a) Find the area bounded by the curve y=x2 and the line y=4.

OR

(b) A sample of 100 measurements at breaking strength of cotton thread
gave a mean of 7.4 and a standard deviation of 1.2 grams. Find 95%
confidence limits for the mean breaking strength of cotton thread.

[ lpliys / Turn over
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44. (o) x sreomisdar  swurfllughsrear  Qmd Blene Qe
(Bxy + y?)dx +(x2 + xy)dy = 0 wHHD wm GCmry sromiser

swrfliugpsrer Crgs Ggwea I 12 erafled, Cliorgs GFwe s FriamLs
STEHTS.

360605

(<=,) Spsaam_ Qsm(h&@E grrafl umeustol CUTEMES Samad(Hs.

) &reonesst(h 2_MHugS)
G- I II I[II)I : v
2002 3.5 3.8 3.7 3.5
2003 3.6 4.2 3.4 4.1
2004 3.4 3.9 3.7 4.2
2005 4.2 4.5 3.8 4.4
2006 3.9 4.4 4.2 4.6

(a) If the marginal cost of producing x shoes 1is given by
(Bxy + y?)dx + (x2 + xy)dy = 0 and the total cost of producing a pair of
shoes is given by ¥ 12 then, find the total cost function.

OR

(b) Compute the average seasonal movement for the following series.

Quarterly Production

Year

I II III v
2002 3.5 3.8 3.7 3.5
2003 3.6 4.2 3.4 4.1
2004 3.4 3.9 3.7 4.2
2005 4.2 4.5 3.8 4.4
2006 3.9 4.4 4.2 4.6



https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

45.

17 4767

(=) Ceanenar Batle e LHw CUTE@Gursg eusd sHGUg QFweUi4MHd

QUbGIETeNg). DiFemer Qbs e (h LwerL(hggLeursafle 30% Cuir S(h55
< arh LwearuBSsToe Gl Crm juled euarriyé@ wrdelHeur. B 70%
Gurr Asrimbg StyHw Curs@Geursg eugdeanwils Lweru(hsglelr. Qb
< enr(h Gl Grm ruldléy euanTigepw LwaTL(hSgILeuTEeed 70% Cur AHSS
g @THL CAsTLIbg AwsCw vwearuBsgeur. W 30% Cur ydw
Curs@eaursg ausdlsg wrilelleur. Ceearanar BF&T WESTCSTNS
LIOTHEHDG eremmid, Lweaseaisd AHSS < arqed 60% Cuir Lglw
Curs@eursg eusdlewiubd, 40% Cum Gl Crm Fullé euemTiqenuiuLd
LWeTU(HSSIeUTTSET 6Ters ©lsmenTL_me,
() ASHG ADES PTG THFmer Fgaigb uLwailsear LHw

CursGeaursg ausdlen LWaTU(HSSIeUTTSET 6TET eTHTLTTSESMD ?
(i) sroLGUTES crdsmen #56is0 Guir Ldw Curs@arsg eusdenwl

LweTU(hSSleum ?

3|6V

(=) @ @GOG parsder wasearbsrans S CarTdéslLl(HeTeng).

(a)

QU(HL-LD : X 1941 | 1951 | 1961 | 1971 | 1981 | 1991

&&6T LG Tens
(Qeos58le0) : y

Qe &0FmaEe GESHrSmsL LwethisS 1946 -1D A ET(HEGSTET LOSSHET
QFTENSHENUIS &TEHTS.

20 24 29 36 46 51

A new transit system has just gone into operation in Chennai. Of those
who use the transit system this year 30% will switch over to using
metro train next year and 70% will continue to use the transit system.
Of those who use metro train this year, 70% will continue to use metro
train next year and 30% will switch over to the transit system. Suppose
the population of Chennai city remains constant and that 60% of the
commuters use the transit system and 40% of the commuters use metro
train next year.

(i) What percent of commuters will be using the transit system year
after the next year ?

(ii) What percent of commuters will be using the transit system in the
long run ?

OR
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(b) The population of a certain town is as follows :

Year : x 1941 | 1951 | 1961 | 1971 | 1981 | 1991
Population in Lakhs : y | 20 24 29 36 46 51

Using appropriate interpolation formula, estimate the population during
the period 1946.

3x° —2x + 5
X —1)(x2 +5)

46. (=) '[( erarUeng x -gul Qurmss Cgrensud(hs.

S|V
(<=,) B&8m Qeevey wepenrw LweaL(BSS Spsasam.. CUTEGTSSIS
SMTHH 6T Y TDL gLl STey HTETs.

D, D, D3 D4 <jafliiy
(0% 1 2 3 4 6
0, 4 3 2 5 8
O3 S 2 2 1 10
e 4 6 8 6

Qi O; wHYIb D; dlwemes (parpGw i -%aig <Agl LOOID j -peug)
CemulLgmads GN&EL0.

3x? —2x + 5
(x — 1)(x2 +5

(a) Integrate ) with respect to x.

OR
(b) Obtain an initial basic feasible solution to the following transportation
problem using least cost method.

D, D, Ds Dy Supply
0, 1 2 3 4 6
O, 4 3 2 5 8
O3 5 2 2 1 10
Demand 4 6 8 6

.th o . .th . . .
Here O; and Dj denote i'® origin and j'"' destination respectively.
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(<=1) sflwrer Cumiquiler S e(p Qumpaiien Coemeu WHMID jeflliLF FriLiger
8 _ _x+3 . . . .
i1 2, pg = > aaile, msTGeurt wWLHMILD

o pugdlwrerisafler o Lflenwis srems.

wpeonGu pg =

3|6V

(<=),) WemeumLbd edleurmhisEh&E, « L lagflen ellenay @GMIuILClL_ar Sarr(Hi9ig H&eyLb.
Cuogib sreowrmné Carsemer, sryean wrHmg Csrgemen < dlwieunenm
Hlepme| QFlieuens &flUmT&EsHe|b.

o IligliLienL_ gy6uor(h BL_L1L| ,6507(h)
QR 66T
ellemev 3|66 ellemev N2 1Y
oy A1) 10 5 11 6
Cargleno 12 6 13 4
QUL 14 8 15 7
erfl@Lim(mer 16 9 17 8
CursEeUTSs) 18 7 19 5
Qa1 Qeweyser 20 4 21 3

(a) Under perfect competition for a commodity the demand and supply laws

x +3

are pq = —2 and pg = respectively. Find the consumer’s

x +1

and producer’s surplus.

OR
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(b) Calculate Fisher’s price index number and show that it satisfies both
Time Reversal Test and Factor Reversal Test for data given below.

Base Year Current Year
Commodities
Price Quantity Price Quantity

Rice 10 S 11 6
Wheat 12 6 13 4
Rent 14 8 15 7
Fuel 16 9 17 8
Transport 18 7 19 S
Miscellaneous 20 4 21 3

-00o0-
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